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QUESTION 1

During exhalation, the diaphragm does which of the following? 

A. Relaxes and lifts 

B. Relaxes and lowers 

C. Contracts and lifts 

D. Contracts and lowers 

E. Does not move 

Correct Answer: C 

 

QUESTION 2

What is the best description for the term contraindication? 

A. An indication of a problem 

B. Already present 

C. To begin or put into practice 

D. A reason why something should not be done 

Correct Answer: D 

 

QUESTION 3

Lance makes $11.35 an hour and earns time and a half pay for every hour over 40. If Lance worked 47 hours this week,
about how much will his paycheck be? Round to the hundredths place. 

A. $546.24 

B. $454 

C. $521.37 

D. $573.18 

Correct Answer: D 

 

QUESTION 4

Which of the following sentences is grammatically correct? 
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A. They\\'re concern is that their may not be enough appetizers for everyone there expecting at the cocktail party. 

B. Their concern is that they\\'re may not be enough appetizers for everyone there expecting at the cocktail party. 

C. Their concern is that there may not be enough appetizers for everyone they\\'re expecting at the cocktail party. 

D. There concern is that they\\'re may not be enough appetizers for everyone their expecting at the cocktail party. 

Correct Answer: C 

 

QUESTION 5

What is the best definition of the word dichotomy? 

A. achievement 

B. trepidation 

C. division 

D. truncation 

Correct Answer: C 
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